Name: Math 1432
Quiz 5 Version A
Ps ID:
(Each question is worth 2pts)
Evaluate the following integrals. Show your work clearly and box your final answer.
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5. Use the appropriate trigonometric substitution to express the following integral in terms of @ (that is, switch
the variable and stop, do not compute the integral).
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Name: Math 1432
Quiz 5 Version B
Ps ID:
(Each question is worth 2pts)
Evaluate the following integrals. Show your work clearly and box your final answer.
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5. Use the appropriate trigonometric substitution to express the following integral in terms of € (that is, switch
the variable and stop, do not compute the integral).
X2 5 Ao

j—2—4—2dx= A %SQC‘L@d-'Q; d?Q - B&QC;LQ&_&
7 ") i e

:%g 3£Sec?9d~&
G ¥ <o
> A [secods = 4 [est"p teco08-
LB




